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1. Introduction

N3-99167 was CR to 23.046 and described merger of 23.046 and T.38. In this document, we discuss some points to be clarified on N3-99167.

2. Discussion

2.1 Estimation of transmission overhead

2.1.1 Format of IFP

Following figure shows format of IFP.
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2.1.2 Overhead in IFP, UDPTL, UDP, IP and PPP

Following figure shows typical case.
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Assuming that data rate between IWF and PSTN-FAX is 14.4[kbps] and length of IFP-Payload is 11200[bits](1400[Octs]), effective data rate is 14.4*(1+311/11200)=14. 8[kbps]

2.1.3 Overhead in L2RBOP and RLP
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S means "Status octet".

Length of S in RLP Ver.2 is

typically 0[bits].


Assuming length of S in L2RBOP is 0[bits] and guaranteed bit rate of radio bearer is 28.8[kbps], effective data rate is 528[bits]/20[ms]=26.4[kbps]. This value is much higher than above calculated value (14.8[kbps]). It consequently seems that 28.8[kbps] for guaranteed bit rate of radio bearer is enough value.

2.2 IP address

IP address is not needed because addressing is based on the way of CS in GSM/UMTS. However, IP address should be assigned by PPP and normally treated for co-ordination with real IP. Transmission overhead increased by application of PPP will not be a serious problem from above discussion.

3. Conclusion

Result of above discussion will be reflected to N3-99303. 
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